1128 FEE 88 AHERTEE

. i | = R B g R . . o
JER KERAB (B B/ ) R ey = BrEE
1 SR ER 11/10 ZFEU&En B2 i —FREAE BERAZER
2 EREEE 10/20/55 1 &R BER BN BREDY)
3 BI5 11307HZE /<& =35 i R EEA (RRAEEEE)
4 ENGELY 10503H , 680 ENGEL B M ER 25 HEFRIE
5 e 11/7 (5=80) EES e BlIFEE NLak (R RE ) RXENER
5 B 10520H 281 £—f Z48% & B RR BEFANEER BaH
Al RS 112.10.16 RS e hFERE S EENBEUE
Al 2Pk 5 11/14 ( VY& ) 2l s e BRURRE |
Al ST 8 11/08%5 —&f FTE % EES S53E 7T 1- 1/ /K A
Al B5% 121255 =6f BEH EES F I B |
=l YRR 11/13 Z£—E0 EEEE: E54 How do you go to school?
Al SR 02/29 A& SR = et INEAR BT SR SE

SREEEL/N 2B R 1120930




